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Honors Algebra 2 Unit 2 — Polynomials 2.5 - Test Review
Name Keﬁ 2 AV\SU.)CKS Onl\lj - Dita
Answer.
I =5 B I A 2. Give an example a quadratic binomial in
Standard Form: 51,(4 2 3,(3_ dx +5 standard form with a leading coefficient of
Jeseine G ooticientie B 17 and a constant of -12.
Constant: S :
Name by Degree: @m\f‘h‘t e
Name by # of Terms: pﬁlﬂﬂc)mta.g_ l -T o= 2“
Add/Subtract/Multiply/Binomial Expansion
3. 12x -7 £ 3" = 2 +5x) 4. (4x* =3x% +x-5)—(2x* -3x* -3x +1)
3 2 | 4 2 LI
Matle e IR Sk -G
5. (2x—3)(x+2) | é. (3x—1)(x2+2x_3)
\‘ 2. ; _ f 3 2 ; ,
el | |3 S -k +3
7. (o+b)(02+20b—b2) 8. 2x5(x3—3x2+7)
| 3 2 2,3 i | 8 '7 s G
o> +34%b +ob - b ax - o 1tk x>
9. (x*+4y)"

7 2 3
Yﬁ +|tmtt'j + Ao _quz + ZS(oxj fzsca j"f

0325 5
Ex>- 30x* + S¢x -27T

1. (5x -3 —
; s 3
3125x - 9375 xT + 11250K° - k7150 K% 4 2025% —243

o

12. Solve by factoring. Solve using gquadratic formula :
4x* = 20x 6x? —8x = -3 y ?
) Z + L__.—-z- O\' X =
n o

et

j.x;:o k=S | | 3 -



Combine Functions f(x)=x"-3x+4 g{x)=2x +1 hie =8 +2x =1

13. g(x) = h{x) 14. 3f(x) + 2g(x)
e 3xE-Sx+iq |
15.g(x) e f(x) 16. 49(3) + h(-2) |
K = Sk ¢ Su bt | it
Divide Polynomiais
17. {x*-6x°-40x +33)+(x-7) 18. (4x* =15 +7x" =1)+(x* - x +2)
e Al \ 0 s Ux*-23x +29
" +xX +Te+9 + ¥ —1
s 1 AEl dyd sk 3eTe-
19. (x> +2x% = 6x = 9)+(x - 2) 20. (6% +13x* - 5)+(3x” + 2x)
' o2 Lad i g O
x tUx+ 2% x-o +B &g
| Ax +3 3x 2%
Find the area and perimeter:
24, 2x* -9
2x+3 . Area: | Ax_+lok -18x-217)
Perimeter: | 4y "i'"l"&‘_' |2..




